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Laws of Exponents Color b

Code

Simplify the expression. Select your answer from the multiple choice options. Find the
letter of the problem in the grid and color it with the color that matches the answer.

G 8% x8% |83 Lightbtrown |N 4°=+43 | 43 DarkBrown
836 Purple 42 Dark blue
8~° Light blue 472  Light brown

H 93:9%2 [9¢  puple |QO 57+58% |5 Lightblue
96 Dark blue 515 White
912 White 5'  DarkBrown

| (57)4 528  [ightbrown [P 35 x 33 | 32 Pink
5" Purple 315 Lightyellow
53 Pink 38 Dark blue

J 93+9% |97 o ghtblue |Q (75)® | 7"  Darkblue
9! Dark blue 7'  DarkBrown
97 Pink 73° Light blue

K (5%)° |5" White R 22+28 |2 Lightbrown
5'8  Lightyellow 26  Lightyellow
5-7  Lightbrown 2°6  DarkBrown

L (26)2 2% Lightbrown |§ 79=74 | 75 Purple
22 DarkBrown 775>  Lightbrown
28 Pink 73 DarkBrown

M 23x22 | 25 White T 94x9% | 9% Light blue
26 Dark blue 1 White
271 DarkBrown 98 Purple




